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MEMORY BASED QUESTIONS

( MATHEMATICS ( TfUTa ) )

If the sum and product of roots of an equation 3x*
+ (2k + 1)x — 5 = 0 are same, then the value of & is

(a) 3 O (b)2 0
() 6 O )4 . QO
If 4+3\/§ =a+b\/§. Find the value of b
N .
3 4
(a) 5 @) (b) = @)
2 3
© 3 O @ i o
1 1
If (xz +—7)=102, then (x——) is equal to
X X '
(a) 12 Q ()8 o)
(c) 10 Q @) 13 o

If system of a;x + by + ¢, =0and a,x + by + ¢,
0 have infinite many solutions then.

a b ¢ b g
e ot =—
(a) a, b2 Cy O (b) 02 b2 Cy 9
B A 8 f
()] o b e Q (d) None of these 0

The length of largest pillar, whieh can be fit in the |-

room of length 12m, breadth 8m & height 6m, will
be

(@ 21 m O (»15m o}
(© 13m O (@) 261 m. Qo
if cosB——:—, then the value of tan 6 will be
2 ‘ 5
(a) —[— o) 7 o
5
© 7 o |(d) 3

1.

-qfa,sx2+(zk%|)x-5=oa‘,tga¥wa‘maﬁr
TOEE WA E Ak HT WS RN

(a) 3 O (b 2 o)

(c) 6 O () 4 (@]

afg 4+jf5.*/g=a+b\/§ T A b HT WA FATSN :
3 4 |

(@ 3 O (b) - , o
2 35

© 3 O @ i o

afe (x2+%j=102, i (x—i) T W TN

. :
(@) 12 O (b) 8 o
(¢) 10 O (@ 13 Q

LLic R a,x+bly+c,=0?{2na2x+b,y+c2=0%
T 7 BN aAfg

b .
Al o @)

a b o a b o

a b _¢ ; ;
© 5,%5 " Q@EHIFT O
fordt ot & onard 12 W, wiSE s W d™r

For 8 W. } A waw oW wed @t wwang, W
A W 3 wRA

4 _b_a

(a) o

(a) 21 . O (b) 15 . o)
(c) 13 W Q (d 261 m. o
afy cosO—%, & tan O Tﬂﬂﬁ ] o
5
(a) 3‘/—— o® 2 o
2’ o >
© 3 @ 3 o
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In an adjoining firure O is centre of clrcle The
value of y will be ¢

/N

N

(a) 120° Q (b) 130° @]
(c) 70° O (d) 105° o
tan 81°

ot 9° is equal to
(@0 O )1 ‘ Q
(c) 90° QO @2 @)

tan 20° tan 70° + sin 20° cosec 20° ,
sin 20° sec 70° tan 20° tan 70°
(a) 1 Q (b)3 O
() 2 O (@4 0
Each interior angle of a regular polygon of side n
is eq;lalto

The value of

| (a) x90° 0o (®) nn;zx 180° o
(c) ><90° = 1 e
If 2% = 4 and 2° = 64, then y is equal to )
(@) =2 O (b) 3 o)
(¢) 30 O @ 27 0
If a, B are the root of x? + px + v = 0 then value of
a B
=t g
B a

2
(@ == Q (b o ikt o)
. v v
- 2
© p +2v o @) p +2v o

The centroid of a triangle whose vertlces are
3, 49,-1,-9 and (4, -7) is

(@) 2, -4). o
(® (2,4 o
© G.9 o
@ 3,-5 o

The ratio in which the line joining (5, 6) and
(2, -3) is divided by x-axis is - :

(a) 34 O (») 21 - Q
(c) 111 . Q (d) 32 @)
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14,

Wﬁ?ﬁOgﬁﬁﬁTﬁ%,ﬁyWﬂﬁm

AB

O
(a) 120° Q (b) 130° Q
(c) 70° O (d) 105° Q
tan81° o |
cot 9° ’
(a) 3 o1 o
(c) 90° O @ 2 o)
tan 20° tan 70° + sin 20° cosec 20° prasp— ff"ﬂ' .
sin 20° sec 70° tan 20° tan 70° 4
(@ 1 O ) 3 O
(© 2 . O (@ 4 o
B RN AN WHEEHS W UAS I 0T
@'ﬂT $
(@) n—2><90° o
n
-2
180°
(b) = # 0.
n
90°
() 5% o
180°
@) n—2x o
iy 20 = 4 3T 209 = 64, AT y T WA B :
(@) 2 QO ) 3 ]
() 30 O (@) 27 O

afg ‘o, p THFOT 2 +px+v=0 B qA A WA
g+% T W AT

B
2 e
X o ¢ L2 o
2
© -p°+2v 0 @@ +2v o

ﬁga%m%ﬁé‘mm,mvﬁﬁ%ﬁim
(3, 4), (-1, -9) 3w (4, 7) &, T :

(@ @, 4. O ® 2,4 O
© G5 O @ (3,-5) O
fagalt (s, 6) 3w (2, -3) W foem T
Igreve W Xy gt fawfe fed s @

e R
(a) 34 O (b) 2:1 0o
© 11 Q @ 32/ ‘ o
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15.

16.

17.

18.

. (a) 30°

19.

20.

21,

In figure, BC || DE, BD = 6cm, DA = 3cm, AE =
2 cm, BC = 8 cm then values of DE and EC (in cm)
are respectively

(@) 4, 4 Q () 6,4 Q
9
© '2",2 O @34 0
In AABC, ZC = 90°, C the length of perpendicular
from Con ABis P, BC=a, CA=band AB =c, then
| v
(@ ;‘z‘=a_z+;z— O (b) p*=ab
111
(c) a*+b*=2p? O [ —=—+— o
p a b
In figure below, the value of x will be
(a) 80° O (b) 90° o
(c) 60° Q (@ 30° o

The chord of a circle is equal to its radius. The
angle subtended by this chord of the centre is

Q (b) 60° @)
(c) 120° O (d) 180° -0
Two circles ¢(0, r) and c(0’, s) touch each other
internally if and only if

(a 00 =r+s O B)00=r-sif r>s O
(c) botha& b Q (d) none of these o
The height ‘of an equilateral triangle is

(a) g x side

,\ side
® =

) sum of squares of side v

© O O

3
(d) None of these @)

If each side of a rectangle is doubled then the area
of new rectangle is how many times the area of
original one ?
(a) 3 times
(c) 4times

o
o

O (b) 2 times
QO (d) 6 times

o\
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16.

17.

18.

19.

20.

21,

afy fax ¥ BC || DE #\ BD = 6cm, DA = 3cm,
AE =2cm, BC =8cm A s[4 DE ¥4 EC &7 4™
A M('&ﬁ.’ﬁ):

A

B 8 c
(@) 4.4 O (b) 6,4 o
c) —2-,2 O @ 3,4 o

AABCH® ZC=90°, C® ABW v & g P
T AR BC=0,CA=HAAT AB=cQ & :
l ;

11 :
(@) ;f;?*;z‘ O (b) p*=ab o
11 1

© a+b=2p* 0O (@ ;‘“-;"’3 (o]
fog @ foax o x @ W A

P P,

Q
(a) 80° Q (b) 90° o)
(c) 60° O () 30° o]
TF g & oar Ima fow @ wue oW

Sar gRT & W &A1 0T gRh

(a) 30° Q (b) 60° o]
(¢) 120* O (d) 180° Ke)
W (0, r) AT (0, S) T 3=A: Wyl A anft
ot ae asft w= :

(@) 00'=r+s O B) 00=r-sif r>sQ
(c) botha &b O (@) v ¥ 51 o
auag fw &t S ‘

(a) {ixw e
® o
© Wsﬁﬁ?:ﬁmuh -
(@ 7 ¥ % T o)
U T A W OALE [ W LT W R
W @ WA JTEA Y FARS & L

(@ 37 O () 27M Q
(€) 4 T O (@) 6 T o

]
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22,
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25.

26.
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30.

The area of the segment which subtends an angle
. of 0 at the centre is
onr? | onr? 1 > . B
—=r?sin® in— O
@ 3600 2’ b O (B) 3550 ~3" SN
© onr” O @ 12 5ing o
“ 360° 2

A rectangular carpet has an area of 120 sq. m and
perimeter 46 m. What is the length of diagonal?
(@) 17m O (b)20m Q
(©) 16 m O @i5m o

The ratlo of the surface area and volume of a sphere
is as

) s:r O (b)3:4r Q
(c) 4:3 O @l1:3r o

The radii of two cones are equal. If their slant

heights are in the ratio 5:4, then the ratio of their ‘

curved surface areas-is

(a) 14 O (b) 54 ; o
(c) 2:5 'O (d) 45 o)
If the mean of n observations Xys X3 Xygesssssosses X,
is x then the mean of the observations x, + m, x,
+ Bty Xyt My Fowmane X, + m is

@) x+m Q (b) x+m o
0 5 9 @rm o

The relation among mean, median and mode is
(@) mode = median —- 2 mean .

(b) mode = 2 median — mean

(¢) mode = 3 median — mean

(d) mode = 3 median — 2 mean.

0000

What is the-probability that an ordinary year has
53 Mondays?

2 ' 1

(@ = O ® - Q.
7

© 5 O @3 o

If p is the probability of impossible event then

(@) p=0 O Bp=1 ' 0

(c) P= : O @dp=2 ' o

2

If x + a is a factor of polynomial X3 — 3»x2 +dx - 12.
Then find the value of ‘a’

(a) 3 Q
b) -2 o
(c) -3 o)
(d) None of these 0

22.

23,

24,

25,

26,

27.

28.

29,
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T JEEUT B W O A9 T HIVT q0@T &1 T
WU H YAFEA T ;-

B <A U Lot 1 2 ©
- 0 - - Q
(a) 360° 2r sin8 Q (b) 360° 2 sm2
onr? 1,
O —r*sin® (o)
(©) 360° (@)

T& AR @eid &1 &awe 120 W2 iR
uftmra 46 it ¥, ar fawol =t e ¥

(a) 17 . Q (b) 20 #. o)
(¢) 16 . Q @ 15 . o)
M W AT TLT IHD AT BT I 00
(@) 3:r O (b) 3:4r o
(c) 4:3 O @ 1:3r @)

2 yiggatl & SR @ froat wuE €, afy s
et Samgal @1 AU 5:4 B A 3T qe
& A% W1 U T :

(a) 14 O (b) 54 0
(c) 25 O () 45 o
afg n, dgron Xis X35 X3eesessesaees X, hT AA x %
qaq x; + m, x, + m, x3 + m, +.............. X, +m &
1> B ) ,

@ x+m O ®) x+m . O
©) x+m O xm o

wrem, wiftaeRt 3t Sgeew  wWaw

(a) g = Wit - 2 Wi o
(b) SgTF = 2 Witgswr - Hiew o
(c) Sgo = 3 WIftas - WA o]
(d) 9ga% = 3 WAIfeAswT - 2 /g o

uifasrar 79 &0 fo& frdt @eRer af ¥ s
'Fﬁﬂaﬂ'%:

2
(@) 7

W

1
o 7 ‘O

7 7
© 3 0@ 35 o
afy p fedt 71 ufeq o9 el weT & widar
t: .
(@) p=0 O ® p=1 0
. ‘
© P=§ Q @ p=2 0O

afg x+a TEIX 13~ 32+ dx - lzwmu-s% |
W o w WA w4 E .
(@) 3 O (b) -2 o)
(©) -3 O@eHask 7 O
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31. Iftan O + sin © = x and tan 8 —sin 0 =y, then x? - | 31 afx tan 6 + sin 0 = x 3I tan 0 — sin 6 =y A x2
y* is equal to _y? & U BN : '

@) o O () 2xy Q @ Q () 2Jxy )
(©) 4w O @ Q (© 4oy O (@) w o
-32. The L.C.M of (x2 = 1), (3 + x) and (x + 1)? is 32, (1), (2 +x) AR (x+ 12 o AWA ¥ :
(@) x+1 o (@) x+1 O B W-Dx+12 O
(b) (= D(x + 1) o (© (2-DE2+x) O @ F@-Dx+1® O
(© (> - DE?+x) ®) ;
@ &2 Dx + 12 o |33, T o, B Yy TETE X2 - 6 —x + 30 H YAH A
33. If a, B, 7 are the zeros of the polynomial x> - 6x? a (alﬁ * By +yo) OW b‘qﬁl L o
— x + 30, then the value of (af + By + yo) is (a) = (b)
(a) -1 O ) I o) () -5 O (@ 30 O
() =5 O (d) 30 O |34, afg a=3,n=2030% §,=3007" /=2 :
34. Ifa=3,n=20 and S, =300, then / is (@) 30 O (b) 25 o
(a) 30 Q (b) 25 Q (c) 27 O @ 15 o
() 27 O @) 15 Q e
35, & 4 . qom ¢ % wuwR WA ¥ A 0w
oM gt ] c"+d"
35. — = is the A.M of ¢ and d, then n is UM EAT
c +
(c) -1 O (d) None of these 0o (e) -1 O (d) % T& o
36. c0s1°. €082° COS3°...ccccrerernssCOS180° = ? 36. cos1° €082°% €0S3°..cccnvicernences cos180° =? :
(@)1 o -1 O (a) 1 O (b) -1 o]
(c)O._ O(d)Noneqfthe.se o (c) 0 O(@FHAFETH O
37. ':‘Ii\: distance between (-1, @) and (5,’5) is 10, then 37, fagaﬁ “1,a) sfte 5, 5) N @ 10 B A
(@) 3 or 13 Q a=7:
(b) =5 or 12 o) (@) 3orl13 O (b) -50r12 (®)
(c) -7, 11 (®) ) -1, 11 O (d) -8,-12 O
(d) -8,-12 O |38, afx frelt A & FIw2:3:4 & U A T @ A
38. If the angles of a A are in the ratio of 2:3:4 then HT UaY BT ST B ;
the smallest angle of the A will be (@) 2@° O (b) 3p° o)
(a) 20° O (&) 30° O (c) 40° .0 (@ 60° Qo
39 (iC):O POR sad I?ST(") Al o ﬂ?' 39, forx # PQR 9T RST g ‘&I & Dae 1T 38
. In figure, an are two secants of the = 380
circle such that PS is a diameter, ZQPS = 35° and 1'{3’ % 1_\3; l:S%Q;T ;ﬂ'ﬂ %;MT LS = B8 ¥
ZPRS = 25°, then ZQTS is equal to FRY =23 OTS% :
T __—~"S - H
(@ 10° O () 25° U o v g 5
() 35° O (d) 66° o) ) 35 .
40. If radius of base of a cone is 5 em and its height is 40, =k g & I W : i wh & aﬂT S
12 cm, what is its slant height ? 12 T B A 3 R fordt Suwd T @t
(@) 12 cm Q (b) 5¢cm o] (@) 12 W9 Q (b) 5 gHt 0
(¢) 13 cm Q (d) 20 cm 0 (c) 13 ¥ft - O (d) 20 ¥t o)
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H.CFof 4x' — 163 + 12x% and 53 + 5x2 = 60x is | 41, 4ot — 16x3 +U2x2 TAT 53 + 5x2 — 60x T T RR: A
(@ x-3 O anm ' '
®) ;ch = 33) 8 | @ x-3 Q (b) x(x-3) Q
() x(x~-3) (©) x¥x-3) Q (d) x(x-3)» o)
(d) x(x - 3)? o i
A dealer buys a wrist watch for Rs 225 spends Rs | 42+ T =Wt ¥ U ¥ 225 5. ¥ @t oK 15 ";
15 on its repairs. If he sells the same for Rs. 300, IHEH WA W@ ‘Fﬂml Aty @ “3} 300 &,
what is his profit in perentage? Ao & W T % RN
(a) 25% O B 15% o (a) 25% O (b) 15% o
(c) 20% O (d)35% Q (c) 20% O (d) 35% o!
;ls‘he formula for total surface area of hemlsphere 43. 3 A = WUl A R #rm
(a) 2nr? O (b) 3nr? o) (@) 2nr? O (b) 3nr? ®)
(c) 4nr? O (d) 5nr2 o Gy At O (@ sur? o
The graph of the equation x —y =0 is 44. 'G'CﬁBR'UTx—y =0 = 3T :

(a) parallel to x-axis @) (a) x-319 & TR 2 O
(b) parallel to y-axis o) (b) y-3181 = TR 2 Q.
(c) passing through the origin "0 (¢) 7o foig § Toman 2 o)
(d) none of thisze O (d) = Y T o
The equation x* + 4x + & = 0 has equal roots, then \ :
(a)k§4 O(b)ks4q O | 45. WHIERUT 22+ 4x + k=0 Yo arafasm &, @ :
(¢) k<0 O k20 o (a) k=4 QO (b) k=<4 o
If 2x* + 7x — 3 = 0, then product of the roots is (c.) Feg & lo) #20 ) .
. ) 46. afs THEFTU 202 + Ix-3 =02 A T AT @
(@ 5 O ® -3 o UGS &R :
7 7
—3 3 (@) = o ®» = o
() = o (d) - o 2 2
The perimeter of the followmg shaded portlon of (©) _73 O (d) % 0O
the figure is '
e 17m L 47. T ™ fam o wrEifea wm w1 ofmw g
I " I [ - 17 m’ rey |
= // | I
EWFL - L ' // )
(a) 40 m e L |4Mm
g’)) jg‘g;/ﬁ 8 (a) 40 . Q (b) 40.07 T, o)
@ 35 m o (c) 40.28 . Q (d) 35 . o

48. The side of a regular hexagon is ‘p’ cm, then its | 48. TH WHEZYS N TH A WY p W ¢ qw

area is SHERT W ghm

3 3
(@) - p*em? Q (b)) == ‘/— p*em? o (a) ‘—/2—3 pPem® O (b) ‘/_ p’em? o}
(©) 243p%cm? O C)] 6P2 cm? o (©) 2J3p*cm? O (@) 6p2 cm?
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49,

50.

51.

52.

53.

54.

SS.

S6.

57.

The value of

cos? (E) — cos? (l) +sin? (—E) +sin* (E) is
‘ 4 6 6 3

9 7
(a) 16 Q T6 ®)
5 3
© 16 SR C/ v o
The value of the expression (1 — cos0) (1 + cot?0)
is
(@ 0 Q )1 o
(c) sin’ 6

O (d) cosec?d o

49,

50.

cos? (%) —cos? (%) +sin? (—765) +sin* (g) FT UA
ﬁ'ﬂT H

9 7

(pEYSICS (g witferr ))

Light propagates in the form of
(a) Electric waves Q
(b) Magnetic waves o
(¢) Electromagnetic waves O
(d) Mechanic waves @)
Snell’s law is

_sinr O (B = sini o
(@ K sini (&) K sinr

1 1 1 1 1 1

@ ¥ w O @ 7=,%, O
Mirror which has magnification always unity
(a) plane mirror @)
(b) convex mirror o
(¢) concave mirror @)
(d) plano convex mirror 0]
Which body absorbs all colours ?
(a) Black O (b) White o
(c) Cyan O (d) Magenta ®)
Two lenses of power +10 D and -2 D are in contact.
Their resultant power will be :
(a) +8D O (b)-8D O
(c)+12D O (d-12D O

Mirage is an example of
(a) Reflection

(b) Refraction

(c) Total Internal Refraction
(d) Total Internal Reflection

A man is standing between two mirrors inclined at
an angle of 60°. The number of images that he will
be able to see is
(a) 4
(©) 6

0000

Q (b)5 o)
Q (c) 3 o)

51.

52.

53,

54,

585.

56,

57.

@ 15 O ® 16 o
5 3 ;

© 15 0@ 5 o

(1 - cos 0) (1 + cot2 ) &T WN TN :

(@ 0 O () 1 o)

(¢) sin*H O (d) cosec?d 0

vty fea wa & nfq wwar &2

(a) faym @ @)

(b) g=FE T Q

(c) Tayd g==m ot o

(d) aifsw o 0

mnr sini

(@) p=_si? O (b H‘—"S—in‘; O
1 1 1 1 1 1

@ 77374 O @ 7777, o)

Fdur fawewt smads w2 1 gar )

(o) F9aa oy O () zw= W O

(c) ¥am@ <du Q (d) woewa 3w Q
HITE o Wt TN A sravifa wW oot §
(a) Tt O () swg Q
(c) Ta™ Q (d) WS o
ar #a foa gwar + 10D 7 2D %, wws o ¥
ITHR! H/A JUAT T

(a) +8D O (b) -8D o
(c) +12D Q @@ -12D o
wifereT 3arEveT T

(a) TS F o
" (b) qEEA HT o
(c) Ul arafer st9ada o
(d) Ui aFaftes quer= w1 o

T Afed 60° HIUT W H{F 91 GHaA U0 B
srer @S #1 3W o fran whrfna frard 3
(a) 4 QO s @)
() 6 O @ 3 o
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S8.

59.

60.

61.

62.
63.

64.

65.

66.

67.

68.

‘The refractive index of glass is 1.5. The speed of

light in glass is :

(a) 3 x 108 m/s @)
(b)2x108mis o
() 1.5 x 10 m/s Q
(d) 4.5 x 108 m/s o)
Cinematography makes use of :

(a) Accommodation ®)
(b) Persistence of vision ®)
(¢) Least distance of distinct vision O
(d) Bifocal lens system - O
Unit of magnification is

(a) metre QO (b) diopter o
(c) m™! ‘ QO (d) no unit o
Magnifying power of compound microscope is

my
(@) myxm, Q (b) m, o
m, . 1

© e O @ wm o
The lens present in human eye is

(a) convex O (b) concave 0
(¢c) plane O (d) none of these o
The element of an electric heater is made of

(a) copper O (b) platinum o
(¢) nichrome - O (d) tungsten @)

Three resistances of 2, 3 and 6 ohms are connected
in parallel, the total resistance is :

(a) 36 Q O N(ININS Q
10 O @D7Q o
A Kkilowatt hour is a unit of
(a) Energy

(b) Power

(¢) Electric charge

(d) Electric current

The instrument which converts sound energy into

0000

electric energy is

(a) Loudspeaker O
(b) Microphone Q
(¢) Transformer o
(d) Electric motor O

An electric bulb is rated 220 volt and 100 watt,
power consumed by it when operated on 110 volt is

(a) 50 W QO (b)TSW o
(c) 90 W O @@25W O
The power rating of an electrical appliance is given
by ¢ ' .

(a) PV Q (b) PR o
(¢) VR

Q (d) IV 0

58.

59.

60,

61,

62.
63.
64.
65.
66.

67.

68.

HiE HT AUTEE 1.5 ) wT W ymyr @ i
.

(@) 3x108 HR” QO (b)) 2x108H”& O
() 1.5x108 @@ O (d) 45x108 7" Q
Aty ST w=A i .
(o) T wfem Q
(b) 3fe feermm o
() W= fe 1 =ww ol O
(d) Tgfes g 0
(a) ¥ QO (b) A= o
(c) Hiex! O@#sEiwE & O
g geEet F oA wiiw T R
(@) my,xm, Q ) 2_: Q
m, 1
© ‘m O @ fim o
a3 § few AW R
(a) 3@ Q (b) t=aw o
(c) wwa| O@wsa=g= O
faega €ie &1 Tede o 3T &
(a) dtst O (b) =™ o
(¢) wgHHA O (d) Tm=A 0
@ wfady 2, 3 99T 6 3NEH WWIWR wW o W
T ¥ aftomd wfea gm
(a) 360 O ) 119 0
(c) 1Q QW10 o
WWW% ...... =
(a) St O ) ufwm @)
() faqm smwm O (@) foym ww o
waft wol @t farga oot ¥ agert #1
(a) =g ww O (b) WEHBH Q
(¢) TFAHRAT Q (d) fay@ =@ Q

T fays sew W 220 dee 100 W€ offd R}
TEH 110 AT W TN WY A @ g§ vl
L

(a) 50 AR O ) 75 ar @)
(c) 80 ar Q (d) 100 T= @)
ww faum suaRw @ wra sifwa w5 S )

(a) 2V Q () 2R 0
(¢) V2R O @1iv Q
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69. An electric bulb marked 100 W and 400 V. During | 69. Ts s&& WX 100 &€ @&l 400 diee Afwd &
consumption the resistance of its filament would | e guE Ius fremie @ wiwe gem
be :
: 1500 3= Q (b) 1600 3
(@) 1500 Q O (b) 1600 Q 0 (@ 1003 . o @) 2000 5%
(c) 1000 Q O (d) 2000 Q o (© ()
70. The working of a generator is based upon : 70, SFRET Y W GUCH e M %]
(a) Electromagnetic induction o (a) Faun Trrhta 9T
(b) Heating effect of current o (b) faya &1 arfia g
(¢) Chemical effect of current Q (c) Taya wm = wWEats 99
(d) Magnetic effect of current Qo (d) Tayga wm =1 TEHEE qWE
71. It:’;e.chamcal energy is converted into electric energy 71. Tifyw st @ ﬁga ot § sEer ©
(@) Electric motor O (b) Ammeter (@) Forqa == O (b) o
(¢) Voltmeter Q (d) Generator (c) AeeHi Q (d) R
72. Domestic electric fittings are connected in : 72. we fayq U @ gW e W W o €

73.

(a) series

(b) parallel

(¢) both in series and parallel
(d) none of these

Magnitude of magnetic field produced around a

0000 00

- conductor depends upon :

74.

75.

76.

77.

78.

79.

(a) voltage

(b) current

(¢) thickness of conductor
(d) length of conductor

What is unit of magnitude of magnetic field :
(a) Faraday Q (b) Tesla
(c) Newton O (d) Newton/m

Which magnet is used to lift heavy goods?
(a) U-shape magnet

(b) Bar magnet

(¢) Electromagnet

(d) Simple magnet

Electric supply in homes and factorles is
(a) 220 Vand 400 V
(b) 400 V and.220 V
(c) 220V and 440 V
(d) 440 Vand 220 V

Which shock is more dangerous?
(a) A.C.

(b) D.C.

(c) Both (a) and (b)

(d) None of these

Which of the following domestic appliances
contribute to ozone depletion?

(a) Television O (b) Refrigerator
(¢) Aircooler O (d) Heater

Non-renewable energy source is :
(a) Wind energy Q (b) Gobar gas

0000 Q000 0000 0O 0000

00 00

73.

74.

75.

76,

775

78.

(a) TH. Q (b) B4

() ¥ (@ T ) O (d) ¥4 4w T
\ﬁwaﬁimaﬁ@wma‘;m
wmtad 872

(a) EfasA O (b) HEstz

(¢) HTW Q (@) TR
e el o ©

(a) o =i Q (b) M= M=

(c) TS O (d) gifrm

(a) ot %9 4

(b) TR %H H

(c) it FW T THRRK A 4N 4
(d) ¥4 |/ =18 &

T O W AR AR S G T 8 W
afmre fra o frel @@ R '

(@) RS O (b) faya ¥ @)
() = Ft A O (d) W wt a=wE O

C00O0O*% 00 0000 0O

T &F @ uRmr & g
(a) BT Q (b) T @)
(¢) = Q (d) MR o

fiFg Tra® @ W AW 8T & fd sae
feran e 1 _

(a) g IR gaih O (b) B8 T=H o
(c) fom g% Q (d) W T o
T offt el ¥ Y arch g wwnd e 2-
(a) 220V 3R 400V
(b) 400V 3R 220V
(c) 220V 3R 440V
(d) 440V 3R 220V

T frmer weE Ifuw @atTE §7

o0 0O @OO 0000

(c) Wood O (d) Uranium



@)

80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

" (a) Joule

90.

91.

Which is a fossil fuel :
(a) Wood

(b) Wind energy

(c) Petroleum

(d) Gobar gas

Which of the following is good conductor of
electricity ? ‘
(@) Diamond O () PVC O
(c) Graphite Q (d) Wood O
Solar energy like other forms of energy causes
no :

(a) Heating

(c¢) Disturbance

0000

O (b) Burning 0]
O (d) Pollution o

Heat can be converted into mechanical energy by:

(a) Electric motor O (b) Wind mill @)
(c) Heatengine O (d) Solarcell O
The example of secondary fuel is :

(a) Wood Q (b) Coal 0
(c) Coal gas Q (d) Natural gas o
Solar cell converts solar energy into :

(a) Heat energy O (b) Nuclear energy o
(¢) Electric energy O (d) Magnetic energy Q
Nucleus corresponds to the number of :

(a) Electrons 0
(b) Neutrons ge
(c) Protons (0
(d) Neutrons and Protons 0
Radioactivity was discovered by

(a) Rutherford O (b) Becquerel Q
(c) Bohr O (d) Madam curie O

Controlled nuclear chain reaction is carried out in
(a) Nuclear reactor QO (b) Atom bomb o
(¢) Hydrogen bomb Q (d) Sun o
The dose of nuclear radiation is measured in terms
of ;

O (b) Watt ®)
(c¢) Civert O (d) Newton o

The name of the coolant used in nuclear reactor
is:

PoLyTECHNIC ENTRANCE ExaMINaTION ( OifeTe fiFiar wawn witen ) 2010-2011

81.

82.

84,

85.

86.

87.

88.

80.

-83.

89.

90.

(a) TFST Q () g i 0O
(c) Yiferam O (d) TR o)
P & ¥ T 1 geew SE WOR2

(a) T ' O (b) &t 0
(c) UHTE Q (d) @&t )
ﬁwﬁﬁ@ﬁmaﬁmmaﬁm
(a) T4 QO () S

(c) faea O (a) W™ O
F @ qifrs Feit ¥ afatia fear o1 g @
........... PUROO -1 £ 4 S

(a) faym AR Q (b) waA ==t Q
(c) et g5 O (d) " = o}
frfra $um @ saERoT §

(a) THE O (b) wren 0
(c) o = Q (d) wwfw T Q
i de, 9k st o aRafia e

@ st d O B mEr I HE O
) fygasaid O (@ g g Q
it fraat G F awtea R :
(a) TR B ]
(b) =gl = Q
(c) WA ® Q
(d) =gri i FReA 0
ear cfefadt i @9 &

(a) T Q (b) A= (o)
(c) o O (@) %= + o)
frefra geen sifufw & s € -

() g f@eex 4 @)
(b) Ty 5H | o
(c) TGS T\ H o)
(d) @ o o
arwaa fafeor & 1S (dose) & WS ¥ :
(a) 5@ Q () 3= @)
(c) drd Q @) == @)
AT AT W ueiaeh @ €U ¥ SuA § e w
aren uqrd 2

(a) TR O (b) wrHt Q
(c) R W Q (d) ssfrmm 0]

(a) Graphite O (b) Water O]
(c) Heavy water Q (d) Cadmium o
(CHEMISTRY (

Oxidation is the process in which a substance :
(a) Gains hydrogen QO (b) Gains oxygen
(¢) Gains electrons QO (d) Gains neutrons

o
o

91, aTaRdreRtuT 9% ufwar €, e .
'(a) TEeeE gt @ Q (b) atedsE et @ O

(c) ol e ¥ O (d) <=M = & O.
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92. Which of the following did not disturb the

equilibrium point?

(a) catalyst QO (b) temperature

(c) pressure O (d) concentration
93. The unit of Rate of Reaction is :

(a) Mol L1 §71

(b) Mol /second

(c) MolLS!

(d) No units
94. Which is a strong electrolyte :

(a) HC O (b) H,80,

(¢) HNO, O (d) All of these
95. Acids and bases react to produce :

(a) Salt and oxygen gas
(b) Salt and hydrogen gas
(¢) Salt and water

(d) None of these

96.
(a) NaCl Q (b) NH,Cl

(¢) CH,COO Na Q (d) Allthe above
Acids in water contain :

(a) OH"ions

(b) H"ions

(c) O ions

(d) None of these

97.

98. Which of the following is a weak acid ?
(a) HNO; O (b) HCl
(¢) CH,COOH O (d) H, SO,
99. What is the pH value of blood?
(@7 o )1
© 1.3 O (@) 0

100. The compound used for disinfecting water is :
(a) soda ash
(b) sodium carbonate decahydrate
" (c) bleaching powder
(d) baking soda

101.The chemical formula of gypsum is :

1
(a) CaSO,. 5: H,0

(b) Ca SO, . H,0
(c) CaS0,.2H,0
(d) Ca SO,

0 0000 00

0000

Which of the following salt solution is neutral :

00 00 0000 0O

0000

00 O

102. A substance which reacts as an acid as well as a

base.

(a) Acidic substance

(b) Alkaline substance

(¢) Amphoteric substance
(d) Neutral substance .

0000

92,

93.
94,

9s,

96.

97.

98,

99,

100,

(d) SfET |
faom = vt gy

101

102

Tt fufwar @t 3T @t e ®
(@) MolL-1S-1  Q (b) Mol/second
(¢) MolLS-! Q (d) =E =R &l
fret # A waer Aga s '
(@) HCI O () H,S0,

(c) HNO; O (d) = w+
o it g & uw W arfufirar R W
(a) w0 3R o ¥ ot R

(b) w0 IR TESSE T Sl R

(c) waoT IR W& o B

(d) ¥ ¥ % T

frer § © frm o1aor &1 O ST §
(a) NaCl Q (b NH,CI

(¢) CH,COONa O (d) SH® Tt
onet Ut W :

(a) OH-3=A = &

(b) H*m &1 &

(¢) O-3g 9] €

(@) T/ = T

frr A ¥ @ o o }2

(a) HNO; Q (b) HCI

(¢) CH;COOH O (@) H;S0,

& H pHUR ? :

(@ 7 Q k1
(c) 73 O @o

W & gt @ Tmop ew w9 @ AR swE
frar s aven difE i

(a) WrE1 &

(b) Wfeam FEE SHERIL
(c) fats o

OO0 00 0000 00 0000 00 ©O 0O

0000

1 %
(a) CaSO45 Hzo O (b) CaSO4.H20
(¢) CaSO, 2H,0 O (d) CaSO,

00

.U uard W 3 9 g A @i W SEER
A Y

(a) ctm vk Q () wilm wid o
(c) 3waudt wid O (d) I aged O




(2)

103. The most abundant metal in the earth’s crust is :
(a) Iron
(b) Copper
{c) Aluminum
(d) Mercury

104. Which of the following gas is used to preserve
food?

0000

(a) Bromine O (b) Oxygen 0
(c) Nitrogen O (d) Hydrogen Q
105. Heating of 3 substance (ore) in the presence of air
is called :
(a) Calcination Q
(b) Combination @)
(¢) Roasting @)
(d) Combustion O
106.Sand is :
(a) SiC Q (b) SiO, O
(c) SiO; O (@ Sio o
107. The metal which is protected by its oxide layer is :
(a) Fe O (b) Al o
(c) Ag O (d) Au o

108. Amalgam is an alloy of one or more metals with :
(@) Mercury
(b) Calcium
(¢) Sodium
(d) Potassium
109. Lustrous non metal is :
(@) N O ®BP
© S Q @1
110. Brass is an alloy of :
(a) Lead and Tin
(b) Copper and Zinc
(c) Copper and Tin
(d) Copper, Zinc and Nickel

111. The property of carbon atom to form a bond with
itself is known as :
(a) Isomerism
(b) Catenation
(c) Allotropy
(d) None of these

112. Diamond gives beautiful colours because it has.
(a) High Density
(b) High refractive index
(c) Hardness
(d) Purity
113. The simplest hydrocarbon is :
(a) Butane ’
(b) Ethane
(c) Methane
(d) Propane

0000

Q000

0000
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T W

0000 00 0000

103, gt W wad orfie W ® ud W At arg €
(a) et Q (&) Frm (dfam) o
() wpifem O (d) o

104.Fm o ¥ fem o @ Iwam @ GmiEr @
Tigor & @ frar s

(a) SEH Q () swerftsA @)
(c) TEgeH O (d) wrgrH o
105. 3T &I AT i Iufkafd § T # A Fga
(a) freama= O (b) warH o
(c) W O ) = Q
elaw g &+
(@) SiC Q (b) SiO, 0
(c) SiO, Q (d) SiO0 )
107. 97 ST 27 €T ATHAIES UXa GRT Hiera @t
(a) Fe O ) Al o
(c) Ag O (@ Au o
108, 3w U Tasr arg & S U W uw @ i
0l

(@) 790 & i fagw g
(b) hfewram & wy fagw &a 2
(¢) Gfeqn & Wy fago g 2
(d) dRfram % wu fhso &
109, rurq foraat wwe ¢
(@) N Owmr
() S O @1
110. fver fufym arg &)
(a) ¥ 9 fea
(b) wen 9 N
(c) W 7 fea
(d) a1, IS+ 9 fa
111, 8T UTHTU] T HUA S UTHIU] & WY frere
HUT ST wEr )

000 00O 0000

(O RLIERED] O (b)) gaT o

(¢) FTEYa O@wasadi O
112,477 g=X 1 gEar €

(@) =9 W9 | Q

(b) I=9 SIUEETE | @)

(c) HeRar | o

(d) gsa @ o
113, TREAW EEEwET § ¢

(a) Q (b) Wi o

(c) fagm O (d) W= o
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114. The gas used in artificial ripening of fruits is : 114, % ®l Wﬁl‘q w0 ¥ TEH % ford wam o ané
(a) Ethane Q (b) Ethene 0 W aTet T
(c) Ethyne O (d) Oxygen O () Q (b) e o)
115. Bakelite and Melamine are examples of : (¢) 3umsA O (d) =wdtsm O
(a) Thermoplastics O 115 YdeEe agr fremarda 1)
(b) Thermosetting plastics 0] .(é) ol e B O (b) TR wifes & O
Rubb ' O : ;
Efi)) Allll o:trhese o () WE & Q (@) s O
{16, ki _ . S 116.F1 & & frm a= @t stfaeram s St 1
. ich element has the highest ionization energy: 0 N 0
(a) Ar O (b) Ne o) (a) Ar (b) Ne
(c) He Q (@) Kr o) (c) Hé QO (@) Kr . @)
117. Which of the following is not an inert gas : 117.F1 ¥ | = @ orfeRa o %|
(a) He Q (b) Ca 0 (a) He Q () Ca o
(¢) Xn. Q (d) Ne Q (¢) Xn Q (d) Ne o
118. The lightest. metal in periodic table is : 11,8.3117=|?i urolt ¥ wEd Few o
(@) Mg Q (b) Zn o) (a) Mg QO (b)) Nz O
(¢) Li QO (d) Na Q (¢) Li Q (@) Na 0
119. Which of the following salt is not Soluble in water?-| 119, fr=r % @ ®17 o waor &t ¥ faeg & ¢ -
(a) K, CO; Q (b) BaCO, O (a) K,CO, QO (b) BaCO, - 0O
(¢) CaCl, , O (d) Na, SO, o (c) CaCl, Q (d) Na,S0, O
126. Which of the following is metalloid : 1o fE H O ELE G =
(a) Boron Q (b) Sodium ®) .(a) ey Q (b) wifeem o
(¢) Magnesium QO (d) Fluorine @) ‘
(c) Fiferm Q (o) wr\ o
(‘BIOLOGY (S forwT) )
* 121.Slight yellow colour of cow’s milk is due to: 121,718 & I8 &1 1] gooRT Uiew fepuet sufeafa &
(a) Niacin Q (b) Carotin o HRUT Erar 1
(c) Riboflavin Q (d) Retinol O (a) Frard O (b) B o)
122.The enzyme present in saliva is (c) TgaArmeteA O (d) Meata O
(a) Ptyalin o uq § : |
El? 1T,ipuse3 8 122.:){ Egiion] qwsno%(b) e 5
¢) Trypsin 5 . .
(d) None of these o (¢) fefem O@evHae= = O
123.Name the disease caused by deficiency of 123'3"'@3'17{.#} FH F T A AR
lodine : (a) TS O (b) @l @)
(@) Goitre O (b) Scurvy o (c) f=em O (d) maf@n O
(0} Rigkets 2 (d) Malaria C O 124 B el @ Ford w19 W Rrerfim Sewer §2
124.Vitamin essential in blood clotting : (a) faafm B O (b) fa=fm C ®)
(a) VitaminB ‘O (b) VitaminC O (¢) Taafa A O (d) ffi|m K (@)
(¢) VitaminA O @ V1fam1nK @) — ; ¢ P 3% W@ |
125. Reflex actions are controlled by : " (a) WiE=R gW @)
(a) Brain O : '
(b) Spinal cord o (p) T B 8
(¢) Cerebrum o () Wm g
(d) Hormones o (d) = g 0O
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126.Name the instrument whiéh can record electrical
activity of brain

(a) EEG Q (b) ECG O

(¢) X-ray O (d) Ultrasound @)
127.The male gamete in animals is called

(a) Sperm O (b) Zygote . O

(¢) Ovum Q (d) Stamens Q
‘128. Which of the following has unisexual flower :

(a) Tarai Q (b) Laubi @)

(¢) Pumpkin Q (d) All of these 0

129.Name the test to determine AIDS
(a) Ultrasound Q (b) ELISA O
(c) X-ray O (d) Sonography = O

130;G'rape and rose are propagated commercially’

by

(a) Grafting

(b) Layering -

(¢) Micropropagation
(d) Cutting

131.Monomer of DNA is
(@) Adenine
(b) Nucleotide
(¢) RNA
(d) Cytosine

132.Who is regarded as the father of genetics
(a) Robert Hooke
(b) Charles Darwin
(¢) Lamarck
(d) Gregor Johann Mendel

'000O0

0000

0000

133.Duckbillled paltypus is a link between
(a) Birdsand reptiles
(b) Birds and mammals
(c) Reptiles and mammals
(d) None of these

0000

134.Most dangerous pollutior is caused by
(a) Air
(b) Chemicals
(¢) Noise
(d) Radioactive substances

0000

135. Depletion of ozone layer causes
(a) Bronchitis
(b) Skin cancer
(c) Asthma
(d) Lung cancer

- Q000

126.38 9% & AW waw e wfess W fagw
wiFaar &1 gar weEn ]

(a) EEG Q (b) ECG o
(¢) X-ray Q (d) Ultrasound o
127.5fE N W g wEST §
(a) TF Q (b) Fw o
(c) e Q (d) v o
128.Frr § A Trmd ww ol o €9
(a) T8 Q (b) @H o)
(c) FF Q (d) 3wf= @i O
129.7ZW F Wia B fod FRY WO Fmen wieer {1
(a) ARESS o
(b) wferan e o)
(c) TR o
(d) |HTR o
130,30 & TETE W MRS T T IAA T 8
(a) som @Ry Q (b) TE TR O
(c) g1 o g O (d) Fd7 g O
131.DNA & U&oldh ¢ ¢
(a) Tl O (b) freEs o
(¢) RNA O (d) urgfaa 0
132, orpaforalt = frar BR e T R
(a) TR TF O
(b) =cd sfe Q
(c) wHTH | o
 (d) MR SeM AvSd 5 2
133mﬁﬁwﬁmﬁﬁmmmﬂ
=g
(a) O & S o
(b) wiwEl e wAuRAl o
(c) whgd & wuREl @)
(d) T8 | 1§ T QO
134, TR ofuw ETfeRE WENUT T 2
(a) ¥ 3 o
(b) WEH gR e}
(c) VIR gR o]
(d) WeauHd 919l g O

135, aﬁﬁ#mﬁm%mﬁwﬁﬁmm
& Ga T R
(@) SieTgieq
(c) T

O (b) == W O
O (d) »wef =1 W Q
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(‘ENsLISH ( 33sT) )
I. THESENTENCES GIVEN BELOW ISINACTIVE | 143. Banerji said, “Bengalies eat rice”
OR PASSIVE VOICE. CHOOSE THE CORRECT (a) Banerji said that Bengalies ate rice. o
CONVERSION. (b) Banerji opined that Bengalies are eating rice. O
136. Close the window. (¢) Banerji said that Bengalies must eat rice. o
(a) Let the window be closed. 'e) (d) Banerji said that Bengalies eat rice. o
(b) You are ordered to close the window. O | 1v. IN EACH OF THE FOLLOWING QUESTIONS
(c) Itis your duty to close the window. O OUT OF THE GIVEN ALTERNATIVES CHOOSE
(d) The window should be closed. 0 THE ONE WHICH IS NEAREST IN MEANING OF

137. Who bought the book? » THE GIVEN WORD.

(a) Who were the books bopght by ? 5 O | 144. One who always looks at the brighter side of life.
(b) By whom the books wete bought ? ; o (a) illusionist O (b) schalarly o)
(c) By whom we the books been bought ? 0 (¢) optimist O (d) pesimist o
(d) By whom are the books been bought ? O .

. . . 145. The doctor who deals with the problem of teeth:

138. The pat!eflt did not take medlcmes.. and guns.

(a) Medicines are not taken by the patient. ‘ O (a) orthopaedician O (b) gynaecologist o
(b) Medicines have not been taken by the patient. o (c) opthalmologist O (d) dentist o)
(¢) Medicines were not taken by the patient. o '

(d) Medicines had not been taken by the patient. O V. THEOPPOSITEOF:
1. CHOOSE THECORRECTALTERNATIVE WHICH | 146. Eternal

MAY FILLTHE BLANKS. (a) temporary O (b) short-lived O
139. The earth _ round the sun. (c) long-lived O (d) everlasting. 9
(a) is moving O (b) moves O | 147. Penury
(¢) has been moving O (d) had moved. o (a) wealthy Q (b) poverty O
140. She is good mathematics. () angry Q {d) appy. =
(@) in O (b) at O [VI. FILL UP THE BLANKS WITH THE SUITABLE
(c) with O (d) of ALTERNATIVE.
'141. My friends laughed me. 148. Tendulkar is Don Bradman of India.
(a) towards Q (b) of O (a) a O (b) an o
(c) at O (d) with o (c) the O (d) not. O
II1. CHOOSE THE CORRECT CHOICE FROM THE | 149. We obey our elders. .
OPTIONS GIVEN BELOW ACCORDING TO (@) must . O (b) should 0
NARRATION. (c) ought to G (d) need to. 0
142. He says, “I will buy the new book”. 150. Our school received complimentary cards
(@) He said that he will buy the new book. o the show. :
(b) He said that he would buy the new book. 0 (a) for O (b) to. ®)
(¢) He says that he will buy the new book. o (c) of O (d)in o’
(d) He says that he should buy the new book. ®)
— —{( ANSWERS )— ' =)
1. (b) 2. (b) 3.(c) 4. (b) 5. (d) 6. (a) 7. (a) 8. (b) 9.(c) 10.(b)
11. (a) 12. (a) 13. (@) 14. (b) 15. (a) 16. (a) 17. (a) 18. (b) 19. (b) 20. (a)
21. (c) 22. (a) 23. (a) 24. (a) 25. (b) 26. (a) 27. (d) 28. (b) 29. (a) 30. (c)
31. (¢) 32. (c) 33.(a) 34. (c) 35. (b) 36. (c) 37.(a) 38. (¢) 39. (5) 40. (c)

41. (b) 42, (a) 43. (a) 44. (c) 45. (b) 46. (c) 47. (c) 48. (b) 49. (a) 50 (b)

L 51. (¢) 52. (b) 53. (a) 54, (d) 55. (a) 56. (d) 57. (b) 58. (b) 59. (b) 60. (d)
; : —_—,
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(a ' ' )

61.(a) 62.(a) 63.(c) 64.(c) 65.(a) 66.(b) 67.(a) 68.(d) 69.(b) 70.(a)
71.(d) 72.(0) 73.(b) 74.(b) 75.(c) 76.(c) 77.(b) 78.(b) 79.(d)  80.(c)
81.(c) 82.(d) 83.(c) 84.(c)  85.(c) 86.(d 87.(b) 88.(a) 89.(c) 90.(b)
91.(b)  92.(a) 93.(a) 94.(d) 95.(c) 96.(a) 97,(b) 98.(c) 99.(c) 100.(c)
101.(b) 102.(c) 103.(c) 104.(c) 105.(c) 106.(b) 107.(b) 108.(a) 109.(d) 110.(b)
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V. %nrzh
-1 =

V2 %"r:i
Yoo

Vi 2n
2n=h
2:1=h:r

Curved surface area = nrl

Y
" Standard deviation o = \fgx——Nﬂ-

Sum of n natural numbers = E(_r12_+_1_)
Mean = 2—%1

Frequency polygon
Xy +Xp + X3+ X4+ X5
5
X, +Xp, +%X3+X, +X5=5x7=35

X=

Xy + Xy + X3+ X4+ X5 +Xg

6 =7
35 + x, = 42
x6=42—35=7

All possible events = 6
Possible outcome toget5=1

ma:%

Since A=1{4,5,6}and
B=1{1,2,3,4} e

AnB = {4}
P(AUB) = P(A) + P(B)-P(ANB)
. P(AuB)=%+%—%=l
Required probability =

¢ 7C 28 21 _49 7
e, Bc, 105 105 105 15

sin 180° =0

- sin1°.sin2°.sin3°...5in79° x0=0

sin*0 (1 —cos? 0) + cos' 0 (1- sin? 0)+3 sin’ @ cosz' 6
sin’ 6 — sin® 8 cos® 0 + cos* 6 —cos* 0 sin’ © + 3
sin® 0 cos’ 0

sin® 8 + cos® 8 — sin” 8 cos” 6 (sin” 6 + cos? 6) +
3 sin® O cos® 6

sin® 0 +cos® 6 + 2 si'n2 0 .cos’ 0

(sin® @ + cos’ 8)* = (1)° =1

Volume = %nx3
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vV, 2
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2:1=h:r

Xq+ Xy + Xy + X4+ X5
5
Xy +Xp +Xg3+Xy +X5=5%x7=35

X =

Xp+XptXq+Xy + Xg + Xgq

6 =5
36 + x, =42
x,=42-35=7

R W BH ¥ HH GWG HEC=6
5% A% WK FE F AP Tefd = 1

1
P(E) =%
A=1{4,5,6}, B=1{1,23,4}
P(AuB) = P(A) + P(B)-P(ANB)
= P(AuB)=%;+%——~é—=1
vt gifaesd =
8c, 'C, 28 .21 _49 7

e, T Bc, 105 7105 1057 15
sin 180° =0
. sin1°.sin2°.sin3°...sin79° x 0 =0
sin? 0 (1 —cos?0) +cos’ 0 (1 —sin"0) +3 sin’ § cos” 0
sin? 0 — sin® 0 cos? 0 + cos” 6 — cos® 6 sin® B + 3
sin® 0 cos” 6
sin® @ + cos® 0 — sin” 6 cos® 6 (sin2 0 + cos® 0) +
3 sin? 0 cos® 6
sin 0 + cos® B + 2sin’ 0 . cos® B
(sin® 0 + cos’ 0)’ = (1)* = 1

A = %mﬁ
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x2 —15x—8x+120=0 x —15x—8x+120=0
x(x—15)-8(x-15)=0 x(x-15)-8(x-15)=0
x=15,x=8 ; : x=15x= 8 .
Length of diagonal is \[x? + y? =\225+64 ol =t . ,/x +y? =280 =17m
289 =17m Anr?
24, 7 =3:r
anr’ o
7 =3ir 3
4. 2.3
3 c+d
' 35. forn=0,AM.=
c+d- ‘ 4
35. forn=0,AM.= 2 36. cos1®.c052°.c083% inerennads .€0890° ........... cos120°
.+ €0890°=0
36. €081°.€082°.C083°% cvriirrenurens €0590° ....cene cos120° =0
-+ €0890°=0 :
LA 47. SR 9 F gRE
47. Perimeter of shaded portion is 22
2 2(15+2)+ 2x—7—x1
2(15+2)+ 2x —x1
(15+2) 7 44
34+ — =34+6.28=40.28.
44 . L
34+ — =34+628=40.28. 50. (1-cos?0)(1+cot’8)

) 20 =
50. (1-cos?@)(1+cot?8) sin? © x cosec” 0 =1

sin? 6 x cosec? 0 =1
55. Power of lens P =P, + P,

=10D-2D
=+ 8D Ans.
(" scIENGE (fawr) )
57. Number of Images BV
o o 67. peV=1=22
_ 360 _]_360 fef—1=5 B W
0 60°
-t Velocity of light in vacuum P _1o
St Velocity of light in the medium 100 220
TS | i ¥? 400 x 400
3x10® _ 3x10° 82, P=——=R=—=—T7—"=1600Q
=v= =52 =2x10° m/s R P 100
H : ‘ 96. Nacl + H,0 — NaOH + HCl both are strong acid and
_ LI R N ‘ strong base hence NaCl is a neutral solution.
R 2 36 ; 116.He has highest ionization energy as it has stable

. Total Resistance R = 1Q electronic configuration and small size.
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